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Mathematics 
Paper 1: arithmetic 

Total marks  

First name 

Middle name 

Last name 

Year 2 – End of Summer Term   
(Meeting end of year expectations)  
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  6 + 4 =  

   

      

      

      

      

      

      

      

      

      

   1 mark 

 

 

 

 

 

 

 

 

 

 

PRACTICE QUESTION 
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  40 + 7 =  
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   1 mark 

 

 

 

 

    

  38 – 10 = 
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  13 +               = 20 

   

 3     

      

      

      

      

      

      

      

      

   1 mark 

 

 

 

 

    

   8 x 10 =   

   

 4     

      

      

      

      

      

      

      

      

   1 mark 
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  28 ÷ 2 =                
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  6 + 7 = 7 +  
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  12 x 1 =  
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   76 – 36 = 
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   1 mark 

 

 

 

       

  42 + 26 = 

1 mark
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  5 + 5 + 5 + 5 + 5 + 5 =  

1 mark
 

 11  
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2
 of 44 = 

1 mark
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  35 = 20 + 

   

 13     

      

      

      

      

      

      

      

      

   1 mark 

 

 

 

 
 

   

  54 + 16 = 

   

 14     

      

      

      

      

      

      

      

      

   1 mark 

 

 

 



 

© Lancashire County Council 2017                                       

 

 
 

   

                     = 43 – 20  
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  26 ÷ 5 = 5 r 
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   34 x                = 68  
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   1 mark 

 

 

 

       

  3 + 3 + 3 + 3 + 3 + 3 =  

1 mark
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  54 = 4 + 
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 of 40 = 
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  2 + 2 + 2 + 2 = 2 x   
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  56 –                = 47 
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   1 mark 

 

 

 

       

   34 + 49 =                 

1 mark
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1

3
 of 21 =  

1 mark
 

 25  

   

 

 

 

 

 

 

 

 

 

 

 

 

END OF TEST 




